
 

1

1

2

2

3

4

4

4

4

4

5
66

7

8888

9

10
1011 11

12

13

13

13

14

15

1515

16

1616

16

17

18

18

19

20

20

21

2121

22

2222

23

23

23

24

25

25

26

26

27

27
28

29

www.palfinger.com

PK 16001 K0600.01100-A

08/2009

Outer boom PK16001-K



www.palfinger.com

PK 16001 K 0600.01100-A

08/2009

Outer boom PK16001-K

1 S205K32SA 1 Outer boom
2 ELG 011 2                       Bearing bush
3 HBD 117 1 Distance washer
4 EA 005 4 M 10x1 DIN71412       Grease nipple
5 HI 999 1 Pin

6 ES 264 1 M 8x16 DIN 912        Screw
7 HTR3920 1 Stop buffer 10 mm
7 HTR3921 1 Stop buffer 12 mm
7 HTR3922 1 Stop buffer 13 mm
7 HTR3923 1 Stop buffer 14 mm
7 HTR3924 1 Stop buffer 8 mm
7 HTR3956 1 Stop buffer 15 mm
7 HTR3957 1 Stop buffer 16 mm
7 HTR3958 1 Stop buffer 18 mm
7 HTR3959 1 Stop buffer 20 mm
8 ES 109 2 M 8x20 DIN 7991Screw
8 ES 297 2 M 8x25 DIN 7991       Screw
9 HA3737B 1                       Bearer
10 HT5746 2                       Bearer

11 EF 144 2                       Spring
12 HT9380 2                       Bearer
13 HF1379A+00008 2 Guide block 8 mm
13 HF1379A+00009 2 Guide block 9 mm                  
13 HF1379A+00010 2 Guide block 10 mm                  
13 HF1379A+00011 2 Guide block 11 mm                  
13 HF1379A+00012 2 Guide block 12 mm                  
13 HF1379A+00013 2 Guide block 13 mm                  
14 HA9490 1                       Bearer
15 EQ 076 2 D80 DIN 471          Circlip

16 HBS 889 2 1,5 mm                Distance washer
17 HI2900A 1 Pin
18 S205L35-A 2 Pull lever
19 S205L37-A 1 Lever

(+20,21)
20 ELG 132 2 Bearing bush

21 ELG 009 2                       Bearing bush
22 EQ 083 2 D 60 DIN 471          Circlip
23 HBS 759 2 1,5 mmDistance washer
24 HI2899 1 Pin
25 EK 003 12 D 8.4 DIN 125Washer

26 ES1082 12 M 8x12 DIN 7984    Screw
27 HF 846A 2 Guide block 8 mm 
27 HF 847A 2 Guide block 9 mm l= 130 mm
27 HF 848A 2 Guide block 10 mm l= 130 mm
27 HF 849A 2 Guide block 11 mm l= 130 mm
27 HF 850A 2 Guide block 12 mm 
27 HF1409 2 Guide block 7 mm         
27 HF1410 2 Guide block 6 mm         
28 ES1089 4 M 8x10 DIN 7984       Screw

Description DimensionSpare partNo. Qty.


	1_6175: 
	1_6176: 
	2_6177: 
	2_6178: 
	3_6179: 
	4_6180: 
	4_6181: 
	4_6182: 
	4_6183: 
	4_6184: 
	5_6185: 
	6_6186: 
	6_6187: 
	7_6188: 
	8_6189: 
	8_6190: 
	8_6191: 
	8_6192: 
	9_6193: 
	10_6194: 
	10_6195: 
	11_6196: 
	11_6197: 
	12_6198: 
	13_6199: 
	13_6200: 
	13_6201: 
	14_6202: 
	15_6203: 
	15_6204: 
	15_6205: 
	16_6206: 
	16_6207: 
	16_6208: 
	16_6209: 
	17_6210: 
	18_6211: 
	18_6212: 
	19_6213: 
	20_6214: 
	20_6215: 
	21_6216: 
	21_6217: 
	21_6218: 
	22_6219: 
	22_6220: 
	22_6221: 
	23_6222: 
	23_6223: 
	23_6224: 
	24_6225: 
	25_6226: 
	25_6227: 
	26_6228: 
	26_6229: 
	27_6230: 
	27_6231: 
	28_6232: 
	29_6233: 
	pos_6234: 
	pos_6235: 
	pos_6236: 
	pos_6237: 
	pos_6238: 
	pos_6239: 
	pos_6240: 
	pos_6241: 
	pos_6242: 
	pos_6243: 
	pos_6244: 
	pos_6245: 
	pos_6246: 
	pos_6247: 
	pos_6248: 
	pos_6249: 
	pos_6250: 
	pos_6251: 
	pos_6252: 
	pos_6253: 
	pos_6254: 
	pos_6255: 
	pos_6256: 
	pos_6257: 
	pos_6258: 
	pos_6259: 
	pos_6260: 
	pos_6261: 
	pos_6262: 
	pos_6263: 
	pos_6264: 
	pos_6265: 
	pos_6266: 
	pos_6267: 
	pos_6268: 
	pos_6269: 
	pos_6270: 
	pos_6271: 
	pos_6272: 
	pos_6273: 
	pos_6274: 
	pos_6275: 
	pos_6276: 
	pos_6277: 
	pos_6278: 
	pos_6279: 
	pos_6280: 
	pos_6281: 


